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1. If businesses fail to pass on the benefits of GST to consumers then the Anti-profiteering Authority 

can take which of the following measures? 

1. It can order the business firms to reduce prices. 

2. It can order the business firms to return undue benefits to the consumers. 

3. It can cancel the registration of the business firm. 

Select the correct answer using the code given below: 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) All of the above 

2. Which of the following Article of the Indian Constitution says that it is the Chief Minister’s duty to 

communicate to the Governor all decisions of the Council of Ministers relating to the administration 

and proposals for legislation? 

(a) Article 165 

(b) Article 166 

(c) Article 167 

(d) Article 168 

3. Apart from 10 ASEAN countries which of the following are the members of the East Asia Summit? 

1. India 

2. Russia 

3. U.S. 

4. China 

Select the correct answer using the code given below: 

(a) 1, 2 and 3 only 

(b) 2, 3 and 4 only 

(c) 1, 3 and 4 only 

(d) All of the above  

4. Consider the following statements: 

1. The EU is India’s largest trading partner, accounting for 13-14% of India’s overall trade. 

2. ASEAN is India’s second largest trading partner, accounting for 10-11% of India’s overall trade. 

Select the correct answer using the code given below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

5. Which of the following is/are among the objective(s) of the International Atomic Energy Agency 

(IAEA)? 

1. To promote the safe and peaceful applications of atomic energy while guarding against its 

destructive use. 

2. To serve as the global forum for sharing nuclear know-how and techniques among industrialized 

and developing countries alike. 

Select the correct answer using the code given below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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6. Which of the following treaties represents the only binding commitment in a multilateral treaty to 

the goal of disarmament by the nuclear-weapon States? 

(a) Comprehensive Nuclear-Test-Ban Treaty (CTBT) 

(b) International Convention on the Suppression of Acts of Nuclear Terrorism 

(c) Treaty on the Prohibition of Nuclear Weapons 

(d) Treaty on the Non-Proliferation of Nuclear Weapons (NPT) 

7. Which among the following are not members of Nonproliferation Treaty? 

(a) Israel 

(b) South Sudan 

(c) North Korea 

(d) All of the above 

8. Which among the following is a single-state nuclear-weapon-free zone? 

(a) Japan 

(b) Maldives 

(c) Mongolia 

(d) Vietnam 

9. Registration of which among the following is compulsory under the Births and Deaths Act, 1969? 

1. Births 

2. Deaths 

3. Marriages 

Select the correct answer using the code given below: 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) All of the above 

10. Which of the following countries have legalized the same sex marriage in 2017? 

1. Australia 

2. Germany 

3. Malta 

Select the correct answer using the code given below: 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) All of the above 
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